Tranas BK

Barometer 2022-11-01

Partavling, 9 bord, 17 par. Antal brickor: 26. Medel: 181.9. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 17 217.8 59.82 Hans-Erik Karlsson - Britt-Inger Hyltberg 7142 6607  Trands BK
2 5 2134 58.63  Ing-Britt Johansson - Irma Schoultz 20616 23145 Tranas BK
3 6 211.0 57.97 Sven-Ake Arvidsson - Johan Lindstrém 9670 86214 Trands BK
4 10 206.9 56.85 Helena Haraldsson - Vivianne Norman 1676 80491 Trands BK
5 16 195.0 53.57 Ola Akerd - Inger Johansson 17634 80929 Trands BK
6 7 193.9 53.27  Barbro Hast - Maj-Stina Forsblad 43456 78226 Trands BK
7 15 192.8 52.98 Johnny Kronquist - Inger Niklasson 14965 57225 Tranas BK
8 8 191.0 52.47  Britt Andersson - Sven Jarhag 43343 61292 Odeshogs BK - Boxholms BS
9 2 178.0 48.90 Ake Johansson - Rolf Edlund 57325 10875 Trands BK
10 13 1744  47.92 Matz Hansson - Stefan Gustafsson 27287 1458  Tranas BK
11 12 172.3 47.32  Kenth Irebo - Gunilla Carlsson 78728 23160 Tranas BK
12 3 171.2 47.02  Ann-Margreth Thornell - Anita Widestrand 56932 61377 Trands BK
13 14 167.9  46.13 Barbara Lind - Katarina Hoffmann 61304 61305 Trands BK
14 4 164.0 45.05  Ann-Britt Ostberg - Torbjérn Hall 42116 20107 Boxholms BS
15 11 159.3  43.75 Bosse Johansson - Ake Aronsson 20119 23150 Boxholms BS - Trands BK
16 1 152.8 41.96 Yngve Thorn - Leif Karlsson 46248 46249 Trands BK
17 18 131.1 36.01 Kirsten Mathiesén - Inger Gustafsson 20106 61295 Boxholms BS - Tranas BK
1 4 E10862 Basta kontrakt 2 & KKn9 Bésta kontrakt 3 475 Bésta kontrakt
Nord v 96 4v O =-420 Ost v EKn7 64 S =1430 Syd vKn732 4% S D -3 -500
Ingen +96 NS ¢+ Kn742 ov + D104
#KKn84 & ¢ v & NT #E95 & ¢ v & NT #KD93 & ¢ v & NT
43 & DKn5 N6 4376 4D1083 46 N9 127 1211 ~ K84 & EDKn2 N7 6 344
vD87543 vKnl0 S6 4376 vD1084 v K9652 S 9 125 1211 vE1054 vKD86 S76 3414
+ K743 ¢+ EDKn8 07 9 105 7 ¢1093 +D5 041611 ¢ E983 ¢ Kn2 057999
*62 #ED73 vV 7 9 105 7 #Kn2 +K10874 V41611 &54 £872 V57999
4 K974 4 E7542 410963
v EK2 v3 v9
¢ 1052 + EK86 + K765
#1095 «D63 #EKn106
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
8 11 24 N= vJ 110 140 00|13 6 5¢vDO-4 +A 800 140 00| 5 16 4v V-2 *K 200 14.0 0.0
17 2 34 N-1 vl] -50 12.0 20| 4 15 44 S+1 v8 650 120 20| 4 17 4v0O-1 aT 100 11.0 3.0
316 2NO+1 44 -150 100 4.0|14 5 44 S= ] 620 9.0 50(15 6 4v V-1 %3 100 11.0 3.0
4 15 2v O+2 &4 -170 70 7.0|17 2 44 S= *J 620 90 50(13 8 INV+1 a7 -120 8.0 6.0
12 7 29y O+2  &T -170 70 7.0[12 7 3NN= v5 600 50 9.0|11 10 3v V= *K -140 50 9.0
18 1 3NO= a4 -400 40 100|18 1 3NN= *7 600 50 9.0|14 7 3vO= +6 -140 50 9.0
13 6 4v 0= oK -420 10 130( 8 11 44 S-2 *T -200 20 120| 1 3 4v 0= +5 -620 1.0 130
14 5 4v 0= a4 -420 1.0 130( 3 16 3NN-4 v6 -400 0.0 14018 2 4v V= *K -620 1.0 130
10 - 8.0 10 - 8.0 - 12 6.6
4 4 D9654 Basta kontrakt 5 4854 Basta kontrakt 6 4 Kn108652 Basta kontrakt
Vast vK 5v V =-650 Nord v D542 34 O =-110 Ost vK9764 44 S =420
Alla +K NS ¢ EK32 ov *7
#EKn10954 & ¢ v & NT «D3 & ¢ v & NT *5 & ¢ v & NT
4 EK32 4 Kn10 N9 3151 4Knl1092 4 EK7 N4 7757 4 EK «D N4 9 5 107
v EKn3 vD109742 S 9 3 151 v93 v EK106 S47757 vEDKn102 v853 S 495 107
¢ EDKn10 ¢ 965 04 10117 7 ¢ Kné 4985 0956 86 4962 ¢ Kn83 08 4826
£32 »86 vV 4 10117 7 #Kn10742 &K86 V956775 #432 #EKKN976 VvV 8 4 8 2 6
« 87 « D63 #9743
v 865 v Kn87 v-
¢ 87432 + D1074 + EKD1054
«KD7 #E95 «D108
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
14 7 3« N+1 &) 130 140 00| 6 17 INO-3 *4 150 140 00|15 8 4vDV-5 ¢7 1400 140 0.0
1 3 1aN= +9 80 120 20| 2 4 2NO-2 *4 100 120 20| 6 17 54DV-3 +¢Q 800 11.0 3.0
4 17 24 N-1 »8 -100 100 40| 5 1 2NV-1 *A 50 80 6.0|/16 7 4¢vDO-3 ¢7 800 11.0 3.0
13 8 3vO+1 &K -170 80 6.0/10 13 INO-1 *4 50 80 60| 5 1 4vV-3 *7 300 70 7.0
5 16 4v 0= 48 -620 40 100|18 3 INO-1 *4 50 80 6.0/10 13 5# O-3 ¢ A 300 70 7.0
11 10 4v O = 48 -620 4.0 10012 11 INO= ¢4 -90 20 12.0|12 11 4v V-2 .7 200 4.0 10.0
18 2 4v 0= a7 -620 40 100|15 8 INO= *4 -90 20 12.0| 2 4 34 N+1 #A 170 20 120
15 6 4y V+l &4 -650 0.0 140|16 7 INO= *4 -90 20 12.0(18 3 2v V= .7 -110 0.0 14.0
- 12 66|14 - 6.5 14 - 6.5
7 4 E8 Bésta kontrakt 8 485 Bésta kontrakt 9 a4 Bésta kontrakt
Syd vD74 5NT S =660 Vast vE743 34 N =140 Nord v DKn10 3¢ N =110
Alla + KKn98 Ingen + D643 ov + DKn986
#ED86 & ¢ v & NT &E94 & ¢ v & NT #10983 & ¢ v & NT
4109754 463 N 11117 9 11 4Kn932 4D N9 6797 410953 4 DKn82 N9 9777
v EK1085 vKn62 S 11117 9 11 vKn85 vD1096 S967 97 v K76 vE%4 S99777
+D ¢7642 011431 ¢E975 ¢ K1082 037646 +K102 ¢ 754 04 4565
«K10 #5432 Vi1i1l431 #65 #DKn32 V37646 #765 «KD2 V445675
& KDKn2 » EK10764 # EK76
v93 v K2 v 8532
+ E1053 ¢+ Kn +E3
#Kn97 #K1087 #EKn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
17 8 24DV-3 ¢ 800 140 0.0|13 12 44 S= »6 420 140 00| 7 3 24 0-2 ¢ A 200 120 2.0
15 10 3NN+3 46 690 120 20| 7 1 24 S+2 &5 170 100 4.0|16 11 24 O-2 ¢ A 200 120 2.0
6 2 3NN+2 vJ 660 100 40|17 8 24 S+2 &5 170 100 4.0(17 10 24 V-2 +J 200 120 2.0
13 12 3NN= 46 600 80 6.0|/18 4 24 S+2 &6 170 100 4.0(12 15 INS+1 aT 120 8.0 6.0
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7 1 2NN+3 vJ 210 6.0 8.0|15 10 34 S= v8 140 60 80| 8 2 INV-1 vQ 100 50 9.0
3 5 3¢S+1 vA 130 40 100| 3 5 44 S-1 *6 -50 20 12014 13 24 O-1 +3 100 50 9.0
18 4 3¢ S= vA 110 20 120| 6 2 44S-1 v8 -50 20 120| 4 6 INS= aT 90 1.0 130
11 14 3NS-1 v5 -100 0.0 14.0|11 14 44 S-1 *5 -50 20 12.0|18 5 INS= 3 90 1.0 13.0
16 - 7.5 16 - 7.5 1 - 5.9
10 495 Basta kontrakt 11 4 ED8532 Basta kontrakt 12 4 DKn953 Basta kontrakt
Ost vKD1093 44 O D -2500 Syd v 10753 5& V =-400 Vast vE3 34 N =140
Alla +82 Ingen +6 NS ¢ D42
#D962 % ¢ v & NT #92 & ¢ v & NT »D94 & ¢ v & NT
«DKn762 41084 N6 7 105 8 «KKn106 4974 N256 54 o E 104 N556 96
v- v 8652 S 6 7 105 8 vDKn94 vE S25654 v 987 v Kn1042 S556 96
¢ KKn9 ¢ ED53 06 6 385 +5 ¢ EDKn9 O 118 7 8 9 + EKn853 ¢ K96 088747
#E7543  #Knl0 V66385 #6543 *EKD87 vV 117 7 8 9 #EKn87 #6532 V88747
» EK3 a- & K8762
v EKn74 v K862 v KD65
+ 10764 + K1087432 ¢ 107
*K8 #Knl10 #K10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 15 4v S= *A 620 140 00| 8 4 3vV-4 +6 200 140 0.0]15 14 44 N= +6 620 14.0 0.0
17 10 2y N+2 & 170 120 20| 1 11 540-1 *2 50 120 20| 2 10 34 N= *4 140 9.0 5.0
16 11 2v S+1  4Q 140 10.0 4.0|17 12 42 0+1 ¢7 -150 100 40| 5 7 24 N+1 K 140 9.0 5.0
7 3 24V-1 vK 100 70 70| 5 7 5#0= *] -400 70 70| 8 4 34N= *K 140 9.0 5.0
8 2 34V- vK 100 70 7.0(15 14 54 0= +4 -400 70 7.0[13 16 24 N+1 ¢K 140 9.0 5.0
4 6 3vS-1 +Q -100 4.0 100| 2 10 3NO+1 v2 -430 30 11.0|18 6 4#V-2 vA 100 4.0 10.0
18 5 24 V= vK -110 20 120(18 6 3NO+1 ¥8 -430 30 11.0| 1 11 44 N-1 +6 -100 1.0 13.0
14 13 24 V+2 vK -170 0.0 14.0|13 16 34DS-3 #6 500 0.0 14.0|17 12 44 N-1 v2 -100 1.0 13.0
1 - 5.9 - 3 66| - 3 6.6
13 49742 Basta kontrakt 14 4 Kn1053 Basta kontrakt 15 454 Basta kontrakt
Nord v 962 4v O =-620 Ost vE6 4¢ SD-1-100 Syd v 108 34 V =-140
Alla ¢ 765 Ingen + KD9 NS ¢ EKD72
#EKn8 & ¢ v & NT #E1053 & ¢ v & NT #D983 & ¢ v &4 NT
«DKn105 4383 N2 4344 « D86 » EK742 N6 9 333 «E863  4Knl092 N586 37
v EKKn v 8543 S 34344 vK1087 v DKn542 S6 9333 vE64 v Kn92 S595338
¢ED104 #Kn3 O 109 109 9 + 104 ¢E 073994 4109843 ¢ - 0847 95
#53 2KD1042 VvV 109 109 9 #DKn86 #97 V74929414 &K #E107654 V 8 4 7 9 4
» EK6 49 «KD7
v D107 v 93 vKD753
+ K982 + Kn876532 + Kn65
#976 *K42 *Kn2
Par  Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 13 2NV +1 48 -150 13.0 10| 2 12 44 0O-1 +6 50 13.0 10| 3 13 24 S+1 T 140 14.0 0.0
2 12 2NV +1 &2 -150 13.0 10|10 4 4vO-1 49 50 130 10|15 1 3¢ N= *A 110 120 2.0
10 4 INV+3 6 -180 90 50|14 17 24 O+1 3 -140 90 50| 2 14 3NS-1 3 -100 9.0 5.0
18 7 INV+3  ¢7 -180 90 50(18 7 2v O+1 49 -140 90 50|18 8 2NS-1 3 -100 9.0 5.0
3 11 2v O+3 &A -200 50 9.0| 1 13 2v O+2 49 -170 6.0 80|10 6 34 0= *] -140 6.0 8.0
16 15 INS-2 a5 -200 50 9.0| 3 11 2v O+3 49 -200 4.0 10.0|17 16 2v S-2 +8 -200 4.0 10.0
14 17 INV+4 7 -210 20 120| 6 8 4vO-= 49 -420 20 12.0| 4 12 3NS-3 43 -300 1.0 13.0
6 8 INN-3 48 -300 0.0 14.0|16 15 34DO= ¥9 -530 0.0 14.0|11 5 4vS-3 *K -300 1.0 13.0
- 5 82| - 5 82| 7 - 7.5
16 4 E1094 Basta kontrakt 17 a5 Basta kontrakt 18 4 ED10 Basta kontrakt
Vast v D98 4v N =420 Nord v EDKn10876542 6v N D -1-100 Ost vD108732 54 S =650
oV + K10 Ingen +8 NS 4103
#9754 & ¢ v & NT »8 & ¢ v & NT #Kn2 & ¢ v & NT
a2 » K875 N 4 4 109 7 & Kn43 « KD986 N2 2 112 7 4 K64 453 N 115 8 118
v32 v K7 S 4 4 109 7 v- vK S22 1127 vKKn96 v54 S 115 8 118
¢ EDKn854 ¢ 972 09 9335 ¢ EKn953 ¢ KD62 O 10102 112 ¢ ED62 ¢ KKn954 027 422
#EKD3 #Kn1062 V99335 #DKn1074 #E93 V 10102 112 *64 #8753 V27422
& DKn63 4 E1072 & Kn9872
v EKn10654 v 93 vE
463 +1074 + 87
»8 *K652 #EKD109
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 12 4¢ V-2 vQ 200 13.0 10| 5 13 4vDN+1 «K 690 140 00| 4 14 44 S+1 24 650 120 2.0
11 5 4e V-2 v8 200 13.0 10| 1 17 5vDN= &K 650 100 40| 5 13 44 S+1 %6 650 120 2.0
3 13 3NO-1 v] 100 80 6.0[{12 6 5vyDN= &K 650 100 40|16 2 44 S+1 #4 650 120 2.0
15 1 5¢ V-1 *9 100 80 6.0{16 2 5vDN= &K 650 100 4.0| 8 10 44 S= *6 620 70 7.0
17 16 5¢ V-1 v9 100 80 6.0 3 15 4vN+1 46 450 50 9.0|12 6 44 S= Ly 620 70 7.0
2 14 3¢ V= vQ -110 20 12.0| 4 14 4y N+1 #A 450 50 9.0| 3 15 INN+1 ¢4 120 4.0 10.0
10 6 3¢ V= 3 -110 20 12.0|11 7 54DO-1 ¥9 100 20 12.0|11 7 2vy N= *4 110 2.0 120
18 8 2¢ V+1  &A -110 20 12.0| 8 10 54 O= v9 -450 0.0 14.0| 1 17 4vy N-2 a5 -200 0.0 14.0
7 - 7.5 18 - 5.0 18 - 5.0
19 4 E83 Basta kontrakt 20 & K985432 Basta kontrakt 21 « EDKn86 Basta kontrakt
Syd vKn73 2NT S =120 Vast vE5 44 N =620 Nord vD10 6y S =1430
oV + K932 Alla + D102 NS + Kn85
#982 & ¢ v & NT &K & ¢ v & NT #EKN9 & ¢ v & NT
«Kn76 4 KD542 N8 8 7 58 D «Kn76 N9 5 7 107 ~ K74 #1092 N 7 10101011
vKD84 v965 S$987538 vK974  vKn62 S 957 107 v EKn v 754 S 7 10121111
¢ E1054 ¢ Kn7 0456 8 4 ¢ K754  « EKn986 0486 36 ¢ K1094 +62 06 3121
*D4 #1075 V45684 #DKn65 #82 V486 36 K654 #108732 V63122
» 109 «E10 453
vE102 vD1083 v K98632
+ D86 +3 ¢ ED73
#EKKN63 #E109743 «D
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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17 3 INS+3 *4 180 140 00|13 7 44 N+1 &8 650 140 00| 7 15 4vy N+1 49 650 120 2.0
12 8 INN+2 ) 150 120 20| 2 1 44 N= *A 620 90 50|16 6 4v S+1 a7 650 120 2.0
5 15 2& S+2 *Q 130 90 50| 6 14 44 N= *A 620 9.0 50|18 11 4v S+1 *4 650 120 2.0
6 14 3&S+1 v4 130 9.0 50|12 8 44 N= 8 620 90 50| 3 2 4y N= 2 620 70 7.0
4 16 24 O-1 *A 100 6.0 8.0|17 3 44 N= +6 620 90 50|14 8 4vy N= &T 620 70 7.0
2 1 INN= a4 90 3.0 11.0| 5 15 24 N+1 ¢6 140 30 110| 1 4 3NN= &2 600 4.0 10.0
13 7 INS= ] 90 3.0 11.0|18 10 24 N+1 v6 140 3.0 11.0| 5 17 2NN-1 »3 -100 2.0 12.0
18 10 2N N-1 +J -50 0.0 140| 4 16 44 N-1 +8 -100 0.0 14.0|10 12 3NN-2 *2 -200 0.0 14.0
-1 6.1| - 11 6.1|13 - 6.7
22 4 K8 Basta kontrakt 23 453 Basta kontrakt 24 4 KD85 Basta kontrakt
Ost v 108762 6¢ O =-1370 Syd vED 6NT N =1440 Vast v EK73 5NT S =460
oV *72 Alla + D75 Ingen +43
#KD52 & ¢ v & NT #KD10953 & ¢ v & NT *E107 E I NT
«D « E10764 N506 54 4642 4Kn10987 N 12126 7 12 463 &« E942 N 9 8 111110
vDKn4 v9 S5065 4 v 108543 v KKn96 S 12126 7 11 v4 v D852 S 9 9 111111
¢ DKn43 ¢E109865 O 7 124 7 8 + K864 ¢ 102 011751 4108652 ¢ D7 04 4 2 2
#EKNn1063 #4 V7 124 7 8 &7 #Kn6 v11751 #DKn652 #983 V 4 4 2 2
4 Kn9532 &« EKD 4 Knl107
v EK53 v72 v Kn1096
+ K ¢ EKn93 + EKKn9
#987 *E842 *K4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 2 3NV-1 v8 100 130 10| 6 1 6NS= ¢4 1440 140 00| 8 16 3NN+3 v5 490 140 0.0
14 8 5¢ O-1 vA 100 13.0 10| 7 17 64 S= v4 1370 110 30| 2 5 3NN+2 a2 460 11.0 3.0
10 12 Pass 100 4.0(11 13 6 S= v8 1370 11.0 3.0(18 12 3NN+2 v2 460 11.0 3.0
7 15 2¢ V+1 vA -110 80 6.0| 8 16 3NS+2 v3 660 80 6.0 4 3 4y N+1 44 450 70 7.0
1 4 26 0+2 @K -130 40 10.0|18 12 54 S= *4 600 6.0 80| 6 1 4v N+1 &A 450 70 7.0
16 6 2¢ O+2 vK -130 40 10014 10 3 N+3 & 170 40 10011 13 4v N= .7 420 4.0 10.0
18 11 2¢ O+2 v3 -130 40 100 2 5 6NS-1 v4 -100 20 12.0| 7 17 3vy N+1 &8 170 2.0 120
5 17 2¢ O+4 YA -170 00 140 4 3 7#S-2 46 -200 0.0 14.0(14 10 4v N-1 »8 -50 0.0 14.0
13 - 6.7 15 - 7.4 15 - 7.4
25 & KKn7 Bésta kontrakt 26 «D2 Bésta kontrakt
Nord v DKn6 4v O =-620 Ost v D107 6NT S = 1440
ov *73 Alla + E96
#109872 & ¢ v & NT #KKn542 & ¢ v & NT
453 4 E864 N7 3 2 6 4 | «KKnl09653 484 N 12128 6 12
v EK10 v 987542 S7 3264 v K82 v Kn9654 S 12129 7 12
¢ EKn10964 ¢ K O5 9 107 8 ¢+54 ¢ 1082 011461
#53 &E4 V59 107 8 &3 #1076 V111461
«D1092 s E7
v3 vE3
+ D852 + KDKn73
#KDKn6 #ED98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 4 4v0-2 &K 200 140 00| 8 1 6NN= v5 1440 140 0.0
8 1 3v0O+1 &K -170  11.0 3.0 7 2 3NS+3 *4 690 120 20
12 14 3v O+1 &K -170  11.0 3.0(15 11 5¢ S+1 *3 620 9.0 5.0
3 6 2v0+3 &K -200 8.0 6.0/16 10 5¢ N+1 48 620 9.0 5.0
18 13 4v O = *6 -620 6.0 8.0|18 13 64 V-6 *A 600 6.0 8.0
7 2 4v0+1 &K -650 20 12.0| 3 6 4¢ N+1 438 150 4.0 10.0
15 11 4v O+1 &K -650 2.0 12.0|12 14 6NN-1 a4 -100 2.0 12.0
16 10 4v O+1 &K -650 20 120| 5 4 5vN-3 48 -300 0.0 14.0
- 17 84| - 17 8.4
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